Sr Questions Answers Choice
A. 30°
. . B. 60°
1 Which of them is not an acute angle C. 80°
D. 90°
A. 60°
2 The sum of internal angle of the triangle is E ﬁggo
D. 240°
A1
. ] B.2
3 A line has end points c 3
D.0
A1
. . B.2
4 A triangle has angles: C 3
D.4
5 Symbol used to show correspondence between two triangles:
A. two
. . B. four
6 Number of elements of a triangle: C. five
D. six
A1
7 A triangle is formed by non-collinear points: (B: g
D. 4
8 Symbol used for Congruent triangles:
A1
. . ) . B. 2
9 Two line can intersect at point only: c 3
D. 4
10 The Symbol used for (1-------- 1) Correspondence is: D.
11 The symbol used for Congruency is:
12 The symbol used for angle is:
A. Same
. . . B. Different
13 Congruent triangles are of size and shape: C. Parallel
D. Similar
A1
14 Aray has end points: B.2
I— ) C.3
D. 4
A. Congruent
: B. Similar to
15 Question Image | C. Ratio
D. Proportion



